MODEL SOLVED PAPER : RBI OFFICER GRADE ‘B’ EXAM

108. In how many dilferent ways
can the numbers “256874° be
arranged. using each digit enly
ance in each arrangement,
such that the dights & and &
are at the extreme ends in each

[3) 38 4] 380
[ Mone of these
Directions (1068-110) : Study
the given information earefully and an-
swer the questions that follow:
An umm contains 3 red. 6 blue,
2 green and 4 yellow marbles. .
108. If two marbles are picked at
. random, what is the probabil-

ity that both are green 7
2 1

11} 1B 12) 1=
2

2 (41

(5] MNome of these
107. If three marbles are picked at

randorm, what is the probability
d that two are blue and one |5
yelbow 7
2 L]
(1 1= [2] o
12 3
3] Bl (4 I
(5] None of these

108. If four marbles are picked at
random, what is the probabil-

ity that at least one Is yellow 7
ol &9

[ 123 121 T
125 1

s 3

(5) None of these

104, If two marbles are picked at
random, what is the probabil-
ity that either both are red or
both are green 7

4

i 105

2

w2 ]ia

i)
] (] Bl
[5 Mone of these .
110. IT four marbles are picked at
random. what is the probabil-

ity that one s green. two ane
blue and one is red 7

4 17
LT 2 280

B 11
3 oay [&1] 15
(5] Mone of thess

Directions [111-118) : Each
of the questions ghven below consists
of a queestion and two slatements num-
‘bered | and [ glven below it. You have
Lo decide whether the data provided In
the statemnents is sullicient Lo answer
the question. Read both the statements.

Glve answer (1] If the data In
statement | alone is sufflclent to an-
swer the question, whils the data in
statement 11 alone Is not sulficlent o
answer the question.

Give answer (2] If the data in
statement. Il alone s al.dl'gcﬁcm 1o an-
swer the question. while'the data in
statement | alome 15 not suflicient to
angwer the question.

Give answer (3] U the data in
statement | alone or in statement 11
alone Is sufficlent 1o answer the gues-
thom.

Gdve answer (4] il the data in
both Lhe statements | and 11 is not sul-
ficient to answer the question.

Give answer (5) il the data in
bath the statements | and I together
Is necessary to answer the question.

111. What is the two digit posltive
number?

1. Sum of the two digls of the
number is 8.

11. Sum of the too digits is 3
more than the higher digit.

112: The symbal = represents one
of the following operationas:
addition, subtraction. mubtipli-
catbon or division. What is the

value of Ge 47

I. D=5=b

I 5=0=5

113. Atwhat trne did Poonam finish
the job #

l. Poonam started working
without a bresk on the job
at exactly @ a.m. and by
noon she had utilised ex-
actly hall the Ume that it
ook her to finish the job.

Il. Poonam took exactly 6
hours to finish the job,

114. Last year an employes recebved

an annual salary of 6, 15,000,

which was pald in equal pay-

cheques throughout the year.

What was the salary recebved

In each af the paycheques 7

I. The employvee recelved a
total of 24 paycheques dur-
Ing the year.

Il. The employee recelved a
paycheque twice a month
each month during the

. year.
115. Is the sum of Integers xand y
greater than 85 7
I. ‘The product of x and y is
greater than B5.
il. One of the variables is
greater than 83,
Directions [116-120) : Study
the fallowing pée charts carefully Lo an-
swer the questions -
Degree-wise breakup of employees
warking in wvarious of
an organization and the ratlo of
Men to Women
Total Number of Employess = 3250

\

Respective Ratio of Men to
Women in Each Department
Department | Men ‘Women
*  Production L) 1
HR 12 13
T 7 a
Marketing 3 2,
AreaLinis [ 7

118. What is the number of men
working in the Marketing
department 7

1] 462 (2 454

i3 418 4] 424

15) None of these

What Is the respective ratlo of
the number of wdmen working
in the HR depariment and the
number of men working In the
IT department ?

117.

Mir:12 @ 17: 246
(3 13: 28 [4) 12: 35
(8] Mone of these ¢
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118. The numbser of men working in
the Procduction depariment af
the organization forms what
percent ol the total numbser of

employees working in that de-
pariment 7

(s (@90

(51 ] [4) 65

5] MNone of these

118, The numbser of women working
in the IT depariment of the
grganization forms what
percent of the total number of
emplayees in the organization

[rom all departments together 7
(1) 3.2 2] 4.8
3 8.3 4) 5.6

Ddrections (121-125) : In the
Tollowing questions pvo equations nume
bered | and 1l are given. You have Lo
solve both the equations and
Give Answer I

m x=y
i} xz Y
5] xay
i} x5y
(5 x = i or the relation-
ship can not be estab-
lished
12L] P +5x+6G=0
N F+3y+2=0
1221 2 =10x+24=0

Il -9y +20=0

15} Nene of these 133. 1 |o* = 961
120, What s the total number of =
men working in Lhe organkza- I = 91
thon 7 124.1 F-72=x
(1} 2198 2] 2147 il =64
[3 2073 4) 2236 126.1  »F - 463 = 321
[5) None of these I - 421 = 308
Directions [126-130) : Study the following tables carefully and answer
the questions given below:

Number of people taking fresh loans from different Banks over the years
and the percentage of defaulters amongst them each year

:

REASONING

131. The positions of the frst and
the fourth letters af the word
PLANET are interchanged,
similarly, the positions al the
second and Mk letlers and
third and sixth letters are in-
terchanged. In the new ar-
rangement thus lformed, how
many letters are there between
the letter which Is seoond from
the right and the letter which
Ia fourth from the left accord-

ing to the English alphabetical
order 7
[1) Rone [2) Ome
[3) Two [4) Thres
[ Four

132. The positions of how many
alphabets will remain
unchanged if each of the
alphabels in the word

WORTHY iz arranged in
alphabetical order from |t o

rlght 7
[1) Nome (2] Ome
[3# Two [4) Three

[5)_More than three

Number of people taking fresh Approximate Percentage of default-
loans from different banks overthe | .  ers amongst them sach year lnﬂmﬂ”?ﬁm
¥, T EERCENTADE each of which has as many
NUMBER Bank letters between them in the
Bank P a B B | T * word (in both forward and
year| P a R | s T 12 3 5 13 T i :m:kw:nl! dimctlt;]nsll aja 1:1;?
have between them in the
e it rassormnlimess el | |22 2 | 33 English alphabeticalseics ?
=] 13 16 | 21 25
2008 |25361 | 28537 | 32652| 29565 32444 () Nene (2} One
5007 |54 | 50045 | 32561 | 28314 36150 8 11 18 |22 19 3 Two 4) Three
12 10 13 3 18 {51 More than three
008 | 36125 J0467 | 25455 23764 [35463 134, "Writi Lated Lo Pen' in
2008 [I5465| I1963 | 27649 24356 33214 11 20 11 F=] 21 ol “Fl'-ﬁ;:“r: s .
{2010 34138 31574 eessazizey (|9 121 112 [21 |23 {1) ‘Singing’ ts related to"Music’
126, Approximately how many (1] 2005 (2} 2006 (2) 'Stitching’ is related Lo
people taking a loan from Bank (3 2007 [4) 2010 Needle”
5 in the year 2006 were de- (5) Mone of thess ’ 13) 'Dadcing is related to
faulters ¥ 128, In which of the following years ‘Exercise’
(1) G480 (% 6210 was the difference in number (4} ‘Carpenter’ is related Lo
[3) 5020 (4] BS50 of people taking loan from ooy
[5) 5580 Bank P from the previous year (5) ‘Paper’ is related to ‘book’
127. Approximately what was the the highest ? 135. If it Is possible ts make only
dilference between the num- 1) 2008 [Z) 2006 one meaninglul word with the
ber of defauliers of Bank @ in 13) 2007 [4) 2005 second, third, eighth and ninth
the year 2004 and 2005 7 15) None of these letters of the word "CONFL-
1) 175 2) 125 130. Approxzimately what [as the ICTED', which would be the
(3 190 (4) 205 total number of de of second letter of the word from
(54 140 Bank T In the years. and the lefi? If more than one such
128. In which of the following vears 2008 together 7 word can be formed, give "A
was the number of defaulters (1) 14110 {2) 13620 as the answer. Il no such word
of Bank R. the maximum (3 13250 (4] 14670 can be formed, ghve 2 as your
among Lhe given years 7 (5 15330 1 Ansar
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iy a
o
5 Z
138. In which of the following ex-
pressions will the expression
P = M be delinitely true?
MM<R=PzS
RIMzES=P<F
BFE«M<FuP
HIP=A<R<M
[5] Rone of these
.Im a class of 42 children,
Joseph's rank |s sbaeenth from
the lop. Kevin is seven ranks
below Joseph. What ks Kevin's
rank from Lhe bottom 7
(1) E2nd (2 20eh
I3 19th 4] 23rd
(59 25th
Drections [138-140) : The
following questions are based on the
alphabetical series given helow:
CLRTBQSMAFPDINFJ
KHGYX
138. Four of the fgllowing fAve are
alike n a cerlain way and so
form a group. Which is the one
that does not belong o the
group?
(1) LET
(3 WF
5 BMS
138, Il "CT Is related to “R@" and
Al is related o 'DF In & cers
tain way, lo which of the fol-
bovaimg is "SF related Lo, Fodlowe -
Ing the same patlern ?
1) MD [2) D™
(3 AD 4 Al
% DF
140. What will come in place of the
question mark in the following
scries?
CR LBT™ 31 7
{11 PK [ DR
(3 DG [4) MX
(5] PG
Directions (141-145) : Eachol
the questions below consists of B ques-
tion and two statemenis numbered |
and 11 given below it You have to de-
cide whether the data provided in the
statements are sullicient to answer the
question. Read both the statements
and -

=T
4 N

&) SPA
(4) FID

Give answer (1] If the data in
statement I alone are suflicient 1o an-
swer the question, while the data in
statement 11 alone are not sufficient to
answer the question

Glve apswer (2] Il the data in
slalement I alone are suflickend Lo an-
swer the question. while the data in
statement, | alene are pod sulfflclent to
answer the question

Glve answer (3] Il the data el-
ther in statement | alone or in state-
ment 1] alone are sullicient to answer
the question

Glve answer [4) IT the data
evien in both statements | and 1 Lo-
gether are mot sufficient 1o answer the
fuestion

Give answer (5] If the data in
both statements | and 11 together are
necessary to answer the question

141. How is 'party’ coded In the lan-

Buage?

1. ‘going to a party’ is.coded
as 'la a qu tu’ and ‘for a
party’ ks coded as 'fame tu’

11, “start the party” is coded as
‘tu cora’ and ‘going lo stant’
is coded as ‘gu cola’.

142. On which day of the week is

Priya clefinitely travelling?

1. Amita correcily remembers
that Priya is travelling after
Tuesday but before Satur-
chay. Rohit correctly remem-
bers that Priya i travelling
e Fricay but after Mon-
day.

1. Priya does not travel on a
Friday.

143, How is P relited 1o A 7

1. Als the daughter of M and
the sister ol 5.

Il. ¥ is the son of P and the
husband of M.

. Four movies are screened from
Maonday to Thursday, (one on
each day starting on Monday
and ending on Thursday) viz -
Crash, Soclal Netwark, lee Age
and Notting Hill. On which day
Is the movie Crash screemed 7
I. Social Network Is sereened

on the last day.

1. Nedther [ce Age nor Notting
Hill are screencd on
Manday.

145. Who sits to the immediate right

of Ayesha 7

I. Four friends- Shraddha,
Tanka, Vilma and Ayesha
are slttng around a circular
table facing the centre.

. Shraddha sits second Lo the
right of Tanla. Vilma is an
immediate neighbour of
5

Directions [146-100) : Study
the following information to answer the
Eiven questions:

Aoword and number arrange-
ment machine when given an input line
of words and numbers rearranges
them following & partbcular rule. The
followwing is an illustration of inpat and
rexrrangement. [‘Slngl.c digit numibers
are preceded by a zero. All other num-
bers are two dight numbers)

Imput  : good 18 to raise 02 12
money 28 for 5T charity 09,
: to good 18 railse 02 12
moniey 28 for charity 09 57.
: to ralse good 18 02 12
maoney for charity 09 28 57,
to raldse money good 02 12
for charity O3 18 28 57,
Lo raise money good 02 for
charity 09 12 18 2B 57.
to ralse money good lor
charity 02 09 12 18 28 57,
Is the last Step of the
arrangement of the above
input as the intended
arrangement ks obtained.

DMrections [148-147) : These
questions are based on the following
Lk

Step |
Step i
Siep I :
Slep IV
StepV

Setep ¥

Input : always 19 give 21 84
for 62 14 worthy cause.
148, Which of the following would
be step 111 for the above Input?
(1) worthy give for always 19
14 cause 84 G2 21.

(2 worthy give For always 14
19 cause 21 G2 B4.

(3] always give for worthy 19
14 cause 21 62 84.

(4] worthy give for always 19
14 cause 21 62 84.

15] always ghve for cause 18 14
worthy 21 62 84,

147. How many steps would be
needed (o complete the ar-
rangement for the above iInput?
(1 vi 2y
(3 4 vl
[5] None of these
Directions (148-150) : These

questions are based on the lollowing
ingout:
Iaput : 50 62 tips on 67 bow
can 42 stay young 17 89 for-
ever 03,

148. The lollowing stands for which
astep of the arrangement?
young tips stay 50 on how can
42 17 forever 03 G2 6T 8O,
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(1) Step I (2] S1ep V

[3) Step V1 (4] Step IV

[ Mone of these

148. Which of the words/numbers
below would he at the fifth
position {from the rght end) in

Step Vool the inpul?

(1) farever (2] 42

13 50 ] young

15h Mone of these

150, Which of the follwwing would
be the last slep fr the lnputl?

(1§ voung lips st on how for

ever can O3 17 42 50 62
G780,

[2) young tips stay on how for-
ever can &9 GF 62 50 42
17 03,

1 ean forever how on stay lips
forever 80 67 &2 50 42 17
3

[N woumg tips sLay on how or
cver can O3 17 42 50 67
G2 84,

159 can fopever how on stay Lps
voung 053 17 42 60 62 67
8o,

Directions [151-158] @ Study
the fullowing information and answer
Lhee cpueestions given belbow :

Eighl people - 5, R, M, L, M, T.
O and P are silling in a circle (acing
the: centre. All eight belong Lo dilferent
professions = reporier, doctor, crick-
cler. leacher, accountant, shophoeper,
praknter and supervisor. They are ol
necessarily seated in the mentioned
ariir.

M is sitting Lthird 1o the lch of
0. The dloctor is to the immicclinle right
ol M and M s ol a reporter. B s sit-
ting fowrth Lo the right of P, Melther R
et P s imancdiate nelghlour of M.
T s a Lencher and i1 sitting (hind o the
right of ihe doclor. The shopkeeper s
sltting second (o Lhe lefl of the leacher.
The painter is siiling sccond Lo the befl
ol M. 5 the ericketer is sining exaclly
between T and P, The accountant is
siging secoqed Lo Lhe right of the erick
eler. W is sitting third to the left of T,

181 Who mmongst, the following is

il repaorier T

1 & 2L

[3) M M R

5 None ol these

. What is 5% position with

respect lo R?

11} Third te ihe right

128 Second Lo Uhe riglt

(3] Thired to the beft
(4] Second to the left
(5] Fourlh Lo the righil
153. How many people are siiting
beetween Pand N when counted
in am anti clockwise directlon
from N 7
11 One
3] Three
15 Nane
184, Four of Uhe following five pairs
ance alike in 8 certain way hased
o Ui positions in U above
arrangement and so form a
roup. Which of the fallowing
does mot belong to the group ?
(1} Teacher - Painler
(2) Supervisor - Shapheeper
13} Cricketer - Repaortier
4) Doctor - Accountant
5} Shopkesper - Doctor
158, Which one of the lollowing
statements is false according
o the above menlioned
wrragement ?
(1) ™ is o the immeediate rght
of the supervisor
[ The ericketer is thired to (e
right of the shopheeper
[3 The doctor i siUng exacily
belween the supervisor
ancd the iwcountant
[ L s nelther o leacher nor a
supeTvisor
[3] There are onby three poople
betwaeen 5 amd N
Directions [ 156-160) : Study
Lhe fllowing infermation and answer
Lhe questions that follow
In a certain code language,
“hape Lo see you® is cocled as Te =0 na
i, ‘please come 0 sec the pary” s
coded as M ge na di ke 20, "hope 1o
come B coded as 'di so ge” and “sce
you Lthe party’ is coded as 're i zo na’.
188, How is ‘please” coded in the
ihven code language™
1) di [2) ke
[HI1 A1) A
15} Beorme of s
187, What does the code "so stnnd
lor in the given code langnge?
() hvgae: [2] come
(3 see 4] 1o
5§ Mone ol Lhese
188, How ks party” codded in the given
codle lnngunge?
(1) Eliher 're’ ar 0’
[2) Eilver o or miy’
¥ Elbher =o' or

[2) Twa
[4) Four

|
t

[4) Either 2o’ or g’
5] Either ke’ or

188, How will ‘please see you' be
codded in the given cotde lan
puage?

1] re na ke

[l =0 re na

[ ke re ge

180, Which one of the Follosadng will
ke coded as "so di re' in the
given code language?
{11 yous see hope
(2] hope you please
13 hoper you come
(4] the hope to
(5] you hope Lo
Directions [161-185) : In sacty
question heelow o statement is ghven lol -
loweed iy iwo courses of action muim-
hered | and 15, A course of action is a
practicabile and leasible step or admin
strative decision o be taken for fol
lewet-uipy, improvement of lurher aciEon
in regard (o Lhe problem. pdicy. clc
Oin the basis ol the informaalion gliven
I the statement, you have Lo assume
everything in the statement (o be Uree
and decide which of Uhe sugpested
courses of action logically follow(s) lor
JrRIrsLing.

Glve answer (1) il only [
Folbows.

Glve answer [2) il only 11
Folbovavs.

Give answer (3] 1 cither | orll

fralbovs.

Give answer (4] il nelther | nor

11 Folbows.
Give answer [5) il both | and
10 fil b
161. Btatemwent : Four cases ol piek
pocketing wene reported il one:

ol the most renowned Thee star

hotels kst evening

Courses of action :

1. The heodes] stall showdd 1 in-
structed o be viglant amd
reporl any suspheious per-
son or activity.

. More CCTY carmeras shoukd
be Enstalled near the dindng
and receplion arcas of the
hied wisere Lhosar incidents
touk plaee

162, Statement ;| Despite mepoated
wiatrnings to stadents and par
ents from e college, some siu
demis have Rl not abilled

the: mandalory criteri ol 75%

attendance in order Lo apgpear

lor exams,

12} 0 re na
[4) ma chi ke
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Courses of actlon :

. ‘The college should stop ad-
hering to this particular erl-
e,

. Either the parents or guard-
lans of the defaullers
should be called for a meet-
g,

183, Statement : The students re-
siding at the hostel of a uni-
versity had Lo stay withoutl
electricity and water for 48
Tisaars ol bescaiiise nl':]'u;rhﬂn
bul because of negligence by
the hostel stail.

Courses of action :

1. The managerment of Uhe und-
viersity ahowld look tnto the
malter and take strict ac-
tion agalnst such ncgli-
Eemce.

. The students ahoild leave

thie hosted and lind same al-
temate accommodation.

. Statement @ Local villagers
hanve reported that nstances of
Mlegal cutting of trees have In-
creased over the last few
manths in the forest area.
Courses of actlon :

The locals should be
encouraged to report any
such activities in the fulure
as well,

. Authorities should imemeds-
ately look into the matter
and put a stop Lo such
illegal activities,

165, Statemeat : The packets of
many of the packaged eatables
convey Incorrect Information
about the ingredients and nu-
trient content.

Courses of action :

All such products should be |-

banned from the market if
allter & warning also correct
information is not provided.
The Issue should be gnared
as long as the eatables are
popular among the public.
DMrections (166 = 170) : Study
the following information and answer
the questions that folboaw:
Six friends — Deepak, Varun.
Anit, Nilesh, Rajesh and Skddharth ane
studying aix dilferent spectallsations of
engineering which are — metallurgy.
telecommunication. soltware, mechand-
cal. electrical and hardware nof nec-

essarily in the'same order. Each one
lkes a different sport - hockey, ericket.
swimming. football, badminion and ten-
nis again not in the same order.
Nilesh Is not studying hard-
wire. Rajesh is studying software and
likes hockey. Andt Hkes swimming numd
is not studying hardware. The one who
likes football is studying electrical.
Siddharth is studying mechanical and
does ot like tennis. The one who likes
hadminton is siudying telecommundca-
b, and Varn do not ke bad-
minton. Decpak does not like tennis,
168. Which specialisation is Varun
studyling ?
(1) Metalhurgy
[2) Mechardcal
[3 Hardware [4) Electrical
(5 None of these
187. Which spori does Deepak like?
(1) Football [2) Crickel
(3 Hockey
(4] Cannot be determined
15 None of these
188. Which of the following person-
specialisation combination is
correct according to the given
information?

1) Wilesh - Hardware

12) Varun - Electrical

13 Anit - Metallurgy

{4} Siddharth - Soltware

I5) MNome is cormect,

Directions [188-170] : If all aix
friends are asked sit in a stralght line
[acing north, In an alphabetical order
[according to thelr names), from ledt to
righl. then __

168, Who will be to the immediate
left of the one studying
electrical?

{1} The cne whao likes badmin-
Lon

who s studying

nbcation

{2 The one who I8 studying
hardware

i2) The one
telecommu

4] The one who lkes hockey
15) None of these
170 Which of the following
. @mhlnalmnu will represent
¢ favourite spert of the
immediale nclghbours of
7

[1) Badminton - Football
[2) Cricket = Tennis

[3 Cricket - Football
[4) Tennts - Football

(5] Cricket - Badminton

DMrectlions [171-173) : Six
fricnds A, B, €, I, E and F working in
the same office take different time o
rench offlce. All of them Lake Ume in
the multiples of ten in such a manner
that the one whe reaches ollice the ear-
liest, reaches in 10 mimtes and the
one who Lakes macdmum lime reaches
olllice in G0 minutes. D takes more time
than E bud less time than A A reaches
I 30 minutes, B takes less Ume than
only F.

171. How much time does € take to
reach offlce?

{1} &0 minutes

[2) S0 minules

[ 40 minuies

[4) 20 minutes

(5 Cannet be determined

172. Whe amongst the following
takes maximum time Lo reach
office®
i B [z C
3D 4 F
15 Cannot be determined

173. How many people lake more
time Lo reach office than D7
11} Four (2] Three
13 Twa 4] Cme
15} None
Drections [174-178) : Incach

question below is given a statement
lallowed by two assumptions / infer-
cnc:_-lln.umbemd 1 and Il. An assump-
tion Is something supposed or taken
for granted and an inference is some-
thing which can be direclly inferred
from e given facts, You have Lo con-
sider the statement and the following
assumptions/ inferences and decide
which of those ls/are inplicit In the
statement.

Glve answer (1] if only | is
Irngslicit.

Give answer (2] il only I is
irnplicit.

Glve answer (3] if either Lar
s Implicit

Give answer (4) if neither | nor
11 is irmplicdt. .

Give answer [5) if both | and
11 are imphicit.

174. Giatement : Using calculator
for simpler caleulations ad-
versely alfects mathematical
abilities of children.

I. Using calculator for com-
plex caleulations may not
affect rathematical abilites
drhveraely. J
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Il. Complex caleulations can-
mol be done manually with-
out the help of a calculator.

178, Statement : For underwaler
battles onby weaponny X shoulkd
be used.,

I. Mot all weaponry can
Tunction well under water.

I There are different kinds of
weaponry avallable for
battles on ground and
under waler.

176, Statement : An advertisement
by Easy Air, a privale alriiner
Travel Lo Mesrut by our alr-
lines and get a chance Lo win
an all expenses pald holiday to
Bangkok'

1. Easy Air Flights are avall-
ahle for Banghok.

Il. The city of Meerul has an
adrgeot.

177. Statement : As the prices of
petrod and diesel shoot up mare
and more people are resorting
o the use of electric cars.

I. Using electricity [or
powering cars is less
expensive than using petrol
or diesel.

1. Many people cannot afford
the ralsed prices of pelrol
and diesel,

178. Statement : Book your mdlway
tickets at least three months
In advance o ensure a con-
firmeed reservation,

I. Nobooking is taken by the
rallways before three
months of the date of
JourmEy.

1. Air tickets need to be
booked as musch n sthance
as trdin tickets.

Directions (178-181) : Read the
followdng information carefully and an-
swer Lhe questions which follow :

Ruling gerernments in the west
are being punished by the voters for
ever rising unemployment rates. Thelr
parliament Is abuzz with compalgns
marked by criticlam of India as an

, outsourcing hub, India ks seen by many
In the west as a land of call centres
and back offices with cheap labour that
costs people In the west, thelr jobs,

(1) Qutsourced jobs do not re-
quire highly skilled and
qualificd employees. .

[2) Mearhy 34% of the unem-
phayed peaple would secure
Jobs In the west Il out-
sourced jobs were In-
sourced by thelr organisa-
Lions,

[3) After sulfering heavy loss-
es in the elections the gov-
ermments (n the west are
expected to change thelr
decision on outsourcing Lo
Inddia.

(4} Outsourcing, a dynamic,
two-way relationship has
created joba and growth in
India as well as the west.

(5} Although ouisourcing toln-
dia allowed many compa-
nies In west Lo focus on
thelr core operationg, they
heavily compromised the
quality and the standards of
their back cffice jobs.

180. Which of the following can be

181.

{1} Jobs which are currently
oulsourced Lo India would
be transferred tg another
country which in all prob-
ability would be China.

(2) Call centres and back of-
flees employees in India
would expect a salary al par
with thelr western counter-
parts.

[3) In-sourcing of jobs by the
west would render thoua-
sands of Indians unem-
ployed.

{4 I in-sourced in the west (8-
sell, the companies would
not be able to employ pro-
fessionals and experis of
same quality as avallable in
Irelia.

(5} The western companies
which earlier outsourced Lo
India would benefit finan-
clally as offices would not
have to be sl overseas.

Which of the following can be

Iaferred? (An inference is

[1}) Unemployment in India Is
not as severe a problem as
that in the wesi

(2} Employees working in the
back offices and call cen-
tres In the west earn much
more than their counter-
parts in India

{3) Developing countries such
a8 China and India do not
oulsource thelr back office
Jjobe at all to cther countries

14} Conntries which do not oul-
source jobs do nol fee the
problem of unemployment

%) One of the maln reasons for
high unemployment rte in
India is its clan of call cen-
tres and back oflices which
underiake oulsourced work
fram the wesl )

Directlons [182-184) : Read

the following information cirefully and
answer the questions which Folbow:

P i son of Q- Q s mother of

R R is wife of T. T is ather of

V. ¥V is brother of W. ¥ is

mather of T.

182. Which of the following Is true
based upon the relationships
given abave?

1] W Is grand-daughier ol ¥

{2 R ks sister of P

13) V is son ol Q

{4) V is brother-in-lawof ¥

(5) Noneistrue

183, How is T related ta P 7
(1} Son-in-Law
[2) Brother |3 Father-in-law
[4) Brother-in-law
[5 Cannot be determined

184. Which of the following is/are
required to establish that Wis
the daughter ol B 7
1] Mo extra information is re-

quired as the relation can
be established from Lhe
Even Information

{21 R has only thres children,
one son and two daughlers

¥ Q has only cne grandson

(@) ¥ has only twa chilelren, a
son and a dawghter

(5] Either {2) or [3]

Directlons (185-190) : In

these questions, relationship between

178. Which of the following something which is mol directly | different elemenis is shown in the
slatements would weaken Lhe stated but can be inferred from | statements, These statements are fol
argument given in the passage? | " the given facts) leweel by two conclusions.
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Mark answer [1) If Only con-
clusion | follows
Mark answer(2) if Only con-
clusion Il follows
Mark answer (3] if Either con-
clusbon 1 or Il follows
Mark answer (4] if Nelther
-conclusion 1 nor I follows
Mark answer (B} if Both con-
clusbons | and 11 follow
185, Statement !
A*BEC.C<D, D>F
Conclusions : |, FxB
. A>D
1848, Statement @
X=YzZ Q=Y. P>X
Conecluslons : 1. Z<P
I P>gQ
187. Statement :
LzlLH>IzJd.K=d
Concloslons: 1. H>L
1. L> K
188, Statement :
DeP= REP S<
Conclusions: [. R<5
I 05
180, Statement :
DzE>FuG EaHcJ
Conclusions: [. J=D
. Ged
180. Statement :
JER>ZR>FcsW.B>J
Concluilons: [. J>F
. B=w
Directions (191-196) : K, L,
M, P, @ R. 5 and T are sitting arcund
a square tahle in such a way that four
of them sit at four corners of the
aquare while four sit in the middle of
each of the four sides. The anes who
si at the four comers face outside while
those who ait in the middie of the sides
face the centre of the table.
F aits third o the right of 5. 5
[ices the centre. b sita third (o the
beft of M. M does mot sit in the middle
ol the sides. Only one person sits be-
tween ) and R. R Is nol an immediate
neighbour of M. T faces the centre. K
s not an immediate neighbour of B
191. What is position of M with
respect o L 7
[1] Third to the rght
(2] M and L sit diagonally op-
posite to each other
{3 Second to the right
(4] Second o the lefl
{5} Filth to the right

192, Who sils exactly between ) and
R?
mT
13 K
{8 & and K
183. Which of the following pairs
represents the persons scated
in the middie of the sides who
face each other?
s 2K L
3 MP 4 R T
BTQ
184, Who amongst the following sit
between R and K when
counted in anti-clockeise di-
rection from K 7
(1} Mo one sits between R and
K as R and K are immedi-
ate nelghbours of each
olher

2 P
14} M

(2) 5. Pand L

3 Pand@ @ Land R

B MSand T

188, Il K Is made to face the oppo-
site direction, who would sit to
his immediate right?

R 2 e

e T

s

188. Four of the lollowing five are
alike in & certain way and so
form a group. Which is the one
thal does mot belong (o that
growp?

L 2 M

K ) P

5 R

Directions [187-200) : Read

the following information and five state-
ments given below it carefully and an-
swer the questions which follow.

Exodus from rural areas to the

urban hubs In search of job epporiu-
nities has now declined to nearly
twenty-alx percent of what It was at
the turmn of 21sl century.

(A Since the last decade, the
rural economy has trans-
formed itsell into & bank-
able, profit making and
commercially viahle venture

[B) Job apperiunities differ in
urban and rural areas

) The load an Infrastruciure
and resources in the urban
areas which had remalned
unmanageable for a long
time has been eased a litthe
slnce the last decade.

(D) This trend of reverse migra
tlon which was seen only in
dvelaped countries il now
has entered the scenes of
developing nations as well

(E) According to a recent report
meare than elghty percent of
the professionals having
roots In rural arcas prefer
1o work In urban cities
rather than thelr home vil-
lages.

. Which of the statements num;

bered (Al (B, [CL. (D] and (E]

mentioned ab«rre represenls an

effact of the given Information
maost appropriately®

e C

o 4] E

(5] Either Dor E

188, Which of the slatemenis num-
bered (A). (8], [CL. (D] and (E]
mentloned above represents a
cause of the given information
most appropriately®
me 2 o
(LN 4] B
15 A

189, Which of the statemenis num-
bered (A, (B], [C]. (D] and (E]
mentioned alove reprsenls an
assumption most appropri-
ately 7 (An assumption is some-
thing supposed or taken for
granted)
1A
@He
(4} Both Aand C
(LR )

200, Which of the statements num-
bered (Al [B], (C), (D] and (E]
mentioned above would
weaken /contradict the facts
prmnl:ud In the paragraph?
(1 a 2 B
(3 < [

BME |

Directions (201 - 208 : Study

the fallowing information and answer
the questions ghven below :

Twelve friends A, B, C. DLE,

F. G, H. L. J, K and L were barmn in
different months of the same year. A
was borm In the month of April and G
was born In the month of August. J
was borm in the month immediately
preceding the month in which K was
born and immediately succeeding the
manth inwhich C wis borm. J wis nol

2 B
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